
I.D.:	71919059

MATERIALE	CONSTRUCTII

Data
publicarii

02.08.22 Coduri	CPV 44192000-2

Pretul
estimativ:

1.702,45	RON	-	1.702,45	RON 	 	

Descriere: PLACA	POLICARBONAT	06	TRANSPARENT	M2	12,60	26,05	30004940	WETTERBEST	SURUB
AUTOPERFORANT	4,8X19	ZINCAT	BUC	250,00	0,18	20002990	SURUB	CAP	BOMBAT	TORBANT
M8X50	BUC	4,00	0,59	20006220	PIULITA	HEXAGONALA	M8	DIN934	BUC	4,00	0,10	20001624
SAIBA	PLATA	M	8X16X1.6	BUC	4,00	0,07	20002986	SURUB	CAP	BOMBAT	TORBANT	M6X100
BUC	6,00	0,31	20020328	PIULITA	HEXAGONALA	M6	ZA	BUC	6,00	0,08	40007753	MUFA	16X16
DE	PICURARE	MIXTA	BUC	3,00	1,95	40011507	DOP	16	PICURARE	MIXT	BUC	1,00	1,14
20011778	LACAT	50MM	MF	675936	BUC	1,00	7,14	20001985	SURUB	CAP	BOMBAT	TORBANT
M6X20	BUC	10,00	0,24	20001623	SAIBA	PLATA	M	6X12X1.6	BUC	10,00	0,03	20020328
PIULITA	HEXAGONALA	M6	ZA	BUC	10,00	0,08	20108895	Conector	rapid	pt	furtun	3/4	YM5819
RIV	B	BUC	1,00	3,19	40006218	REDUCTOR	PRESIUNE	APA	3/4	EVP	BUC	1,00	46,22	40006615
MANOMETRU	0-6	BARI	EVP	BAR-A06	BUC	1,00	10,92	40005560	ROBINET	GAZ	3/4	FF	RG-
DFF34B	BUC	1,00	18,32	40003547	RACORD	COMP.FE	D=25X3/4	TEH	BUC	1,00	4,12
40012324	BANDA	TEFLON	MARE	EVP	ELG-GA1915	BUC	1,00	3,53	40001322	RACORD	20X3/4
M	COMISA	BUC	2,00	15,97	20003101	SURUB	MONTAJ	FERESTRE	7.5X132(100BUC)	4711	SEA
BUC	4,00	0,84	20003018	SURUB	CAP	HEXAGONAL	M8X60	ZA(50BUC)	10575	SEA	BUC	5,00
0,76	40001224	PIESA	BRANSARE	D50X3/4	PN10	BUC	1,00	6,72	40004644	NIPLU	REDUS
1X3/4	BRONZ	EFC-N11/34	BUC	1,00	6,30	50000951	GRUND	DANKE	ANTICOROZIV	GRI	2,5L	BUC
1,00	55,38	20108574	TOTAL	-	Disc	debitare	metale	-	230mm-TAC2212303-RB	BUC	5,00	9,24
20001039	PENSULA	LATA	S176	N	70	BUC	1,00	4,87	50004069	VOPSEA	POLICOLOR	SPO


